MA 2051 B 2013 — Quiz 5
Name: SOKLC‘ng
Section (circle): 9 am. (Nathan) 10 am. (Ruofan) 11 am. (Alex) noon (Tuan)

noon (Hector) 1:00 p.m. (Pi) 3 p.m. (Jesus)

Instructions: Work neatly. Show your work. Do your work on this paper. Use the back if

needed. Don’t skip steps. Justify your answers. LS US
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Loz .‘S/ [Cl 1. (3 pts) Find the Laplace transform X (s) of the solution of z” + 4z = cost, z(0) = 1,
z'(0) = 4. Do not invert the transform. =4
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M AN C 5‘“) Extra credit (1 pt): Look at the terms in X(s). Without inverting, identify the
qev frequenc:es if any, you would expect to see in the solution z(t)
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